
6mm Hex Key
(1)

M8 X20        M8 NUT
(4) (4)

Attach the bracket in the desired position and
location using the 4 nuts and bolts provided.
Hand tighten the nut till its snug.

Place codec to confirm cable clearance before 
tightening completely.

HDCB Clamp
 (1)

HDCB Bracket
        (1)

Plastic Spacer
(2)

10-32 Nut
(2)

10-32 Washers
(2)

3mm Washers
(2)

AUDIO VISUAL FURNITURE INTERNATIONAL
288 Don Hillock Drive, Aurora, Ontario  L4G 0G9     www.video-furn.com 
Toll Free: 1-877-834-3876      Fax: 1-905-751-1488  Local: 905-751-1459

Note: If you cannot understand these instructions or are concerned about safety of the installation
Contact a qualified contractor or contact AVFI at 1-877-834-3876.

Confirm all hardware is included before you begin assembly.
Not all hardware supplied will be used depending on the manufacturer of your display/s.

PM-HDCB
Mounting Instructions
Thank you for purchasing AVFI's High Definition Codec Bracket. 
This product was designed for mounting a single HD Codec
to AVFI PM-S-FL, PM-XFL-D & PM-XFL-S display stands or for 
mounting on to/into a wooden or MDF cart or a wall.

Supplied Parts:

Supplied Hardware:

Page 1 of 2

Hardware Bag
(1)

rev 2.0

OR

The Lifesize codec only requires a single piece mount.

If Using Polycom or Tandberg Codec, assemble the two 
pieces using the 10-32 nuts with washers.
You want the two pieces to adjust later, so don't tighten 
the nuts.



Attaching Lifesize Codec

1.Remove existing stand.
Retain screw for next step.

Attaching Polycom HDX / Tandberg Codec

2. Using screw from step 1 and spacers.
Attach bracket to Codec as shown.

1.Remove existing stand.
Retain screws for next step.

2. Using screw from step 1 and
washers if required.
Attach bracket to Codec loosely.
Do not tighten till after next step.

3. Lower clamp into slots on
Polycom or gripping ring on
Tandberg.  Tighten clamp with
3/8 wrench.  Tighten screws
from step 2.

3/8 wrench

+ screwdriver

AUDIO VISUAL FURNITURE INTERNATIONAL
288 Don Hillock Drive, Aurora, Ontario  L4G 0G9     www.video-furn.com 
Toll Free: 1-877-834-3876      Fax: 1-905-751-1488  Local: 905-751-1459

Page 2 of 2


	Sheet1
	Drawing View138
	Drawing View140
	Drawing View141
	Drawing View144
	Drawing View145
	Drawing View146
	Drawing View147
	Drawing View148
	Drawing View151
	Drawing View153
	Drawing View154
	Drawing View155
	Drawing View164

	Sheet2
	Drawing View149
	Drawing View150
	Detail View N (2 : 7)
	Drawing View156
	Drawing View157
	Detail View O (1 : 4)
	Drawing View159
	Detail View P (1 : 4)
	Drawing View161
	Detail View Q (1 : 2)
	Drawing View163
	Drawing View165




